ap KBREFRKE 3A1SE
= ZH ZETE TEa ZRE EhE Rem | BeE(D)
ERSER GRIRSEE) 21 21 3/ 100 2.6
EREseen | ERRSR (HEEEE] 2 8 8 4, 200 2.0
ERESER 5 2 29 29 12
i | RE—VRESH [RREHL) 15 15 o/ 100 3.0
FEeh GRIREE ) 46 46 18| 100 2.6
BEPH | BHEH (RRERE) 34 34 3/ 100 11.3
RERE & 2 80 80 21
BELE(PH—EEE) [RIRGHE) 2 47 47 15| 100 3.1
1§/ AT LR RIREEIE) 31 31 7/ 100 4.4
4R AT LR (SR HER) 3 21 21 5 200 4.9
1B 2T LR 5 3 52 52 12
RE-BETY 2R GRRGRE) 26 26 4, 100 6.9
sy, | RERETYAUEH (BPRAY) 2 12 12 2| 200 6.0
TFE B BET YA ER 5t 2 38 38 6
BB TSR GRRSRE) 18 18 10, 100 1.8
IBISTE T 2R [0 AR) 2 10 10 o 200 2.0
BIEE TR 5 2 28 28 15
FHAT2E 5 ] 118 118 33
BT 2R (MPNER) 24 24 10 200 2.4
BT 2R (M ERE) 2 14 14 6| 300 2.3
M T2 5t 2 38 38 16
B TEH (LA 12 12 10/ 200 1.2
B IEH (M2 ERT) 2 ] Y/ 5 300 1.4
T 2 EHA T 22 5 2 19 19 15
MBS TR CRIRGEE) 19 19 38 100 24
BHAE TR (HPBAR) 2 9 9 4, 200 2.3
BRI TR & 2 28 28 12
ETHREEIYR (HEyER) 2 26 26 91 200 2.9
TieEg &t 8 111 111 02
et 22 400 400 138




